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Attempt afl questions. Question no. 1 is
compulsory,

1. = A & Fi uia 9E T wifNe-
) 2X53%5
Attempt any frve questions—

() wvigd i REa Iwwmge=d {(1,0), (1, 1)}
Y. @aa &

Show that the set {(1,0), (1, 1)} of R?

is linearly ;ndependent,
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Find the eigen valyes o the mg..
'

A=[ 3 2]
-1 0
() '@ Hf-
X+y+z=9
2x+Sy+7z=52
2x+y+z=0
Solve—
x+y+z=9
2x+5y+7z=752
2x+y+2=0
(v} Wity ot # e
Explain Algebraic equation.
(v) T ¥ gufi| wer ) IR qR
vftafim #iforg

Define symmetric function of the roo‘
with example,
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Define statement pawtern,
vin) TTEE 3R omm = weem,
Explain tautology amd contradiction.

(x) fag w3 fe-
i ] "= Z_ isinn T_
{sinf + icos @) _CUSHLZ B)+ &1 \
Prove that- .
{sinﬂ+imﬂ)"=¢osn(ﬁ- )+is‘mn&£—— 3
2 2
(xy fug =0 ¥&-
sinh3x = 3sinhx+ 4sin k> X
Prove that—
sinh3x=3sinhx+ 4sinh3 b
s -1
(Unit-1)
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(Or)

(8 -6 2
TR A=|~6 T 4| % stvenfos
2 -4 3,

A ( 3093 9rAT) 3R 9 sfvenafs sfm
(A dfewt &1 faufton) 7@ sifau

Determine the eigen values and the
corresponding eigen vectors of the matrix-

8§ -6 2
A=|-6 7 4
2 -4 3

ondi ‘ 8.
Also write the corresponding €1gen value
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Prove that every square matrix satisfies its
characteristics equation,
T
o

-

x+y+z=6

x+2y+3z=10

XF2y+Az=[
F (i) ¥ v A (i) @ g w9, (i)
A= 7@ T
Investigate for what values of A4, u the
equation—

x+y+-=6

x+dvy+3-=10

x+2v+Az=y
have (i) no solution (ii) a unique solution
(i11) an infinity of solutions.
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TR f(x)=2x" -dx?+x-2 e
g(x)=x’-x—2 ¥ TEEH TS Fq

ERE | 6/7
Find the gcd. of the polynomials
f(:n:}=2:u:3 ~4x’ 4 x-2 and
g(.r)=;u:2 -x=2-

HYqr

(Or)

FHFO 44y 4 2x% —4x—2=0 W
wyrfa Fifa fored fimfa o< = &
Transform the equation
A +axd +2x°-4x-2=0 into an
equation lacking the second term.
e -1V
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fag #ifed fo- 6/7
(pvg)vr=pvi{gvr)
Prove that-

(qu]erpv(E;vr)
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Hadr
{()
4z . b, ¢ FA@ AR BE AT G @
ffemu fR AR a b =aciMa +h=a+c
@b =c
In a Boolean algebra show that if
a+b=a+candab=ac, thenb=c. .
“TEE =V
(Unit- W)
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n
—+1 Nt

A+ +(1-i' =22 cos i
if 1 is any positive integer, then prove that-

T nm
Qs+t +(1-i)" =22 cos—

I
(Or)
a2 tan(a+ip)=x+iy, &8 Fifau, -

i) x2+y +2xcot2a=1

() x2+y° —2ycoth2f+1=0

) xcat2a+ coth2p=1.
(i) xe Y PT.O.

(8)

: If anicx +i)y=x+iyv. prove thar—

¥
(i) X2 +y  +2xcotlo=|

i) x2+3°—2ycotn2f~1=0

(i) xcot2a+ yeothZf=1.
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